Text 7.

Cash Flow Statement as a Lens on Growth

Текст взят из Barker, R. Short Introduction to Accounting / R. Barker. – Cambridge : Cambridge Univ. Press, 2011. – 215 p.
A simple reading of the cash flow statement provides an insight into whether a company is growing and, if so, by what means. A simple illustration of this is provided in Table 5, which reports summary cash flow statements for nine companies, which are named Company A through to Company I. In each case, there is no overall change in the amount of cash held by the company during the reporting period. Yet each cash flow statement tells a different story. Before reading the next paragraph, take a look at Table 5 and see if you can determine, for each company, whether there is growth in assets and, if so, by what means the growth is being achieved.
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Table 5. – Nine different routes to zero net cash flow

Operating cash flow is a measure of the difference between cash received from customers and cash paid out to run the business, for example to pay suppliers and employees. It follows that if a company reports positive operating cash flow, then it is generating a cash surplus from its trading activities. Other things being equal, this will lead to an increase in assets.

Companies A, B and C are all in this position of generating a positive operating cash flow, and moreover each generates the same amount. Each company differs, however, in their investing and i nuancing cash flows.

Investing cash flow is a measure of the value of long-lived assets acquired or disposed of. If a company reports a negative investing cash flow, then it is using cash to acquire assets. While this does not lead to a change in the total value of assets, there is an increase in assets dedicated to the business purpose of the organisation, for example more buildings or equipment. A positive cash flow, on the other hand, implies the disposal of assets, and therefore shrinkage in the productive capacity of the business.

Company A has generated operating cash flow of $10k, all of which is reinvested in the business to acquire new assets. While there is no net increase in Company A’s cash balance, the total value of its assets has grown. Moreover, it has achieved this growth without the benefit of additional funding from shareholders or from the bank. It is a successful business that is growing organically. The company could, of course, have grown even more if it had decided to also raise funds externally. A bank loan of $15k, for example, would have enabled overall growth in assets of $25k. The company is perhaps being conservative, because it is restricting its capacity to grow by using only internal funding.

Company B has also generated operating cash flow of $10k, but in contrast with Company A, it has not reinvested this amount in the business but has instead returned it to providers of finance. In other words, it has either paid dividends, repurchased shares or paid off bank loans. As a consequence, the total assets of Company B have not grown: all the surplus that was generated internally by the business during the reporting period was transferred out of the business and back into the pockets of shareholders or the bank. While Company B has traded just as successfully as Company A, it differs because it is a no-growth company.

Company C, meanwhile, is scaling down its activities even though it, too, has positive operating cash flow. Instead of reinvesting in the business, it has actually sold long-lived assets, resulting in a positive investing cash flow. The total of operating plus investing cash flow has been returned to providers of finance, who have withdrawn more assets out of the company during the period than the company has been able to generate. The business is possibly near the end of its life cycle, and while it is still making money, it no longer has opportunities for profitable investments, such that providers of finance are now withdrawing their money in order to reinvest elsewhere.

Company D has grown at the same rate as Company A, yet it differs in that the source of funding for its growth has been external rather than internal (a financing cash flow rather than an operating cash flow). This is perhaps a young business that has not yet been able to generate positive operating cash flow, yet which is investing in long-lived assets because it expects them to generate trading surpluses in the future.

Company E might also be a young business, which is incurring both operating and investing cash outflows as it seeks to establish and develop its business. The company has no option but to borrow heavily in order to be able to cover these cash outflows. Company E has grown at the same rate as Companies A and D but it has only been able to do so by borrowing more heavily. Investors and management will be watching future operating cash flows carefully, because these must become positive for the business to be sustainable.

Company F has the same negative operating cash flow as Company E, yet its position is perhaps more worrying. The company has had to raise funds externally in order to cover the cash outflows from its trading activities. If this borrowing was from the bank, then it now has a new loan to repay and interest costs to cover, yet it has no net increase in its assets, because the cash received from the bank was cancelled out by the loss of cash from trading activities. There has been no investing cash flow, suggesting that, unlike Companies D and E, the company does not have profitable investment opportunities available to it, but instead has to look for a turnaround in trading conditions for its operating cash flow to improve and for the business to be sustainable.

Company G appears to be in a somewhat similar position to Company F. Both have a negative operating cash flow, and neither is growing. While Company F has funded its operations by raising finance externally, however, Company G has pursued the alternative option of selling off some of its assets. This is symptomatic of a business in trouble. It might, for example, have been forced to sell assets because shareholders and the banks were unwilling to invest any more money in the business. It might also have raised as much as it could from asset sales by selling off some of the better-performing parts of its business. If so, it will no longer benefit from the cash flows that those businesses generate, and the one-off cash inflow from asset disposals will be offset in future years by even worse operating cash flows. On the other hand, it is possible that Company G owned assets that it was not using effectively but that were valuable to others in the industry, in which case the company’s position would not be so bad. Either way, however, the combination of negative operating cash flows and positive investing cash flows suggests the restructuring of a troubled business.

Company H, meanwhile, is also disposing of assets, yet by doing so it is returning money to its providers of finance. This suggests a lack of profitable investment opportunities and a winding down of the business. There does not, however, appear to be any particular cause for concern; while operating cash flow may not be positive, neither is it negative.

Each of the scenarios in Table 5 is summarised in Table 6 (A summary of the nine different routes to zero net cash flow)including, for completeness, the simplest case, Company I, where the net cash flow is zero in all categories. Table 6 (A summary of the nine different routes to zero net cash flow) summarises the two main themes of the discussion above. The first is whether there is growth in assets, in other words whether investing cash flows are zero. The second is the means by which growth is achieved, in other words whether internally, by means of operating cash flow, or externally, by means of financing cash flow.

                                                        Operating cash flow

Positive Nil Negative

Growth Positive A D E
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Table 6. – A summary of the nine different routes to zero net cash flow

As you know from Part I, each of the transactions reported in the cash flow statement is one part of a double entry, with the other part affecting some other account on the balance sheet. With operating cash flow, the other account is retained profit, which is a component of equity. With investing cash flow, the other account is an asset of some kind, such as land, buildings or equipment. With financing cash flow, the other account relates to a provider of finance, notably bank loans or equity (shareholders’ funds). Having reviewed the cash flows, we will now review the other side of the double entry to which the cash flows relate.

